
ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วนสี ลําดับการดําเนินการดว้ยวงเล็บ

(55 ÷ 11 − ) × =
3
2

6
1

+ ( + ) =
6
1

3
1
6
1

5
2

(20 ÷ 2 − ) × =
2
1

2
1

(9 ÷ 1 + ) × =
4
1

2
1

− ( + ) =
4
1

5
2
2
1

5
2

+ ( + ) =
3
1

3
1
3
1

3
1

( + ) × + =
3
2

2
1

3
1

5
3

45( + ) ÷ 5 =
6
1

2
1

( − ) × + =
2
1

5
3

6
1

5
1

8( + ) ÷ 1 =
5
1

2
3

www.snowmath.com



ชื อ: 　　　　　　　 วันที : 　　　　　　 คะแนน: 　　　

เศษส่วนสี ลําดับการดําเนินการดว้ยวงเล็บ

(55 ÷ 11 − ) × =
3
2

6
1

18
13

+ ( + ) =
6
1

3
1
6
1

5
2

45
16

(20 ÷ 2 − ) × = = 4
2
1

2
1

4
19

4
3

(9 ÷ 1 + ) × = = 4
4
1

2
1

8
37

8
5

− ( + ) = (− )
4
1

5
2
2
1

5
2

100
11

+ ( + ) =
3
1

3
1
3
1

3
1

9
5

( + ) × + =
3
2

2
1

3
1

5
3

90
89

45( + ) ÷ 5 = 6
6
1

2
1

( − ) × + =
2
1

5
3

6
1

5
1

60
11

8( + ) ÷ 1 = = 13
5
1

2
3

5
68

5
3

www.snowmath.com


